RUGGED
® Page 1/7
KRIDGE -

Part # 11544.25

JL Spartacus Rear Bumper

Components

1. Bumper Shell (1)

2. Plastic Inserts - LH / RH (2)

3. Sensor Holder - LH / RH (2)

4. Sensor Plug (4)

5. M14 Nut Plate (1)

6. D-Ring Bracket - LH / RH (2)

7. Mounting Bracket - LH / RH (2)

ATTN: STATE OF CALIFORNIA CONSUMERS
A\ WARNING: Cancer and Reproductive Harm



https://www.carid.com/rugged-ridge/

RUGGED
HIDGE Sl .. .-

JL Spartacus Rear Bumper

@

/ / /”/’ / \\\ \\
| ! \ \
L )
\ \ /
\ AN / /
\\
N

Wi -e

.
©
&

ex Bolt (8)

lat Washer (8)

t Washer (8)

lastic Flat Washer (10)

utton Head Bolt (10)
k Nut (8)




RUGGED
KRIDGE Page 3/7

JL Spartacus Rear Bumper

INSTALLATION INSTRUCTIONS

1. Remove factory rear bumper and tow hook. If
vehicle is equipped with backup sensors,
remove from bumper.

2. Attach plastic insert to bumper and secure
with M4 locknuts and washers. Repeat for
both sides.

~—
M4 LOCKNUT AND
WASHER




RUGGED
KRIDGE Page 4/7

JL Spartacus Rear Bumper

3. Install sensor holders to bumper.

C SENSOR HOLDER )
X2 o

When installing sensors,
NOT'CE ensure plug side faces
center of vehicle.

4. Insert sensors or plugs into sensor holders.
Repeat for both sides of bumper.

a. If equipped, insert sensor into
sensor holders.

b. If not equipped, insert sensor
plug.

x4
(sevsonrive )




RUGGED
KRIDGE Page 5/7

JL Spartacus Rear Bumper

5. Install M14 nut plate into passenger side
frame rail.

x1
( M14 NUT PLATE )

6. Install D-ring Bracket over the frame rails on both
sides. Install M14 screws and washers underneath.

CD-RING BRACKET)




RUGGED
KRIDGE Page 6/7

JL Spartacus Rear Bumper

7. Install mounting brackets to D-ring brackets on both sides using M14 hardware.

M14 SCREW AND
WASHER

Q \ i
T MOUNTING
I1—— BRACKET

8. Position bumper shell on vehicle at D-ring mounting points.




RUGGED
KRIDGE Page 7/7

JL Spartacus Rear Bumper

9. Insert button head bolts to ends of bumper.

BUTTON
HEAD BOLT
AND WASHER

Learn more about off-road bumpers we have.


https://www.carid.com/off-road-bumpers.html

